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1. The mass-spring-dashpot system, shown below, can be modeled using the linear system that you investigated
in HW 1. The governing equations can be written as[

ẋ
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]
=
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]
, (1)

where x is the position measured relative to the rest length of the spring and v is the velocity; both quantities
have signs that indicate the direction (right or left). This system can be written succinctly as

ẋ = Ax. (2)

m
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(a) Calculate the eigenvalues of the system matrix A in terms of the ratios k/m and c/m. (We have combined
the three quantities m, k and c into the two ratios k/m and c/m.)

(b) Also calculate τ and ∆, defined as the trace and determinant of the system matrix A, in terms of the two
ratios k/m and c/m.

(c) Consult the ∆ − τ diagram for classification of fixed points of linear systems as shown in class and in
section 5.2 of the textbook. For the following cases, calculate the numerical eigenvalues to identify where
on the ∆− τ diagram each case lies.

• Case 1: k = 2, m = 5 and c = 7.5 in some appropriate system of units.

• Case 2: k = 3, m = 2 and c = 1 in some appropriate system of units.

(d) Draw points on the ∆− τ diagram shown in fig. 1 to indicate where case 1 and 2 lie.

(e) Make a computer-generated plot of the phase portrait near the fixed point x∗ = [0, 0]⊤ for each of these
cases. Include as much information in this plot as you think is necessary to convey the information it
contains.

(f) Explain the physical significance of the difference between the two regions of the ∆− τ diagram in which
case 1 and case 2 each fall. How would you explain, in words, to someone the difference between these
two cases?

(g) Make physics-based arguments to show that the spring-mass-dashpot system can only fall in a subset of
the five regions shown in fig. 1. Identify this subset, i.e., identify which of the five is ‘allowed’ and which is
‘not allowed’ based on your physical intuition about this system. In your answer, ignore the ‘edge cases’
that lie on the boundaries between regions.

2. This question is about a general n = 2 linear differential equation ẋ = Ax.
Plot phase portraits (near the origin, which is a fixed point) for twelve different linear systems corresponding
to the points A through L shown on figure 1. Thus, for each of the twelve cases, you need to find some matrix
A that has the properties (trace and determinant) that correspond to the region or curve on which the points
are located. You are encouraged to use pplane or Mathematica to generate these phase portraits. For each of
the twelve cases,

• Include an image of the phase portrait, with an appropriate number of trajectories to show the qualitative
behavior;

• Write down either the two equations ẋ = f1(x, y), ẏ = f2(x, y) or the matrix A that you used;

• Use section 5.1 and 5.2 of Strogatz’s text to classify the fixed point at the origin, if possible.
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Figure 1: Classification diagram for fixed points of linear systems
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